Computational Electromagnetics : Surface Integral Equations

Uday Khankhoje

Electrical Engineering, IIT Madras

Topics in this module

1 Motivation: Bending Waves

- **2** Setting up the Helmholtz Equation
- **3** Solving the Helmholtz Equation: Green's functions
- **4** Huygen's principle & the Extinction theorem
- **5** Formulating the integral equations

1 Motivation: Bending Waves

- **2** Setting up the Helmholtz Equation
- **③** Solving the Helmholtz Equation: Green's functions
- 4 Huygen's principle & the Extinction theorem
- **5** Formulating the integral equations



1 Motivation: Bending Waves

- **2** Setting up the Helmholtz Equation
- **③** Solving the Helmholtz Equation: Green's functions
- 4 Huygen's principle & the Extinction theorem
- **5** Formulating the integral equations

Problem setup



Helmholtz equation: Making it concrete



1 Motivation: Bending Waves

2 Setting up the Helmholtz Equation

3 Solving the Helmholtz Equation: Green's functions

- 4 Huygen's principle & the Extinction theorem
- **5** Formulating the integral equations

$$\int_{1}^{5} \frac{\ln \operatorname{troduce a new "Green's" function}}{\left(\nabla^{2}\phi_{1}(r) + k_{1}^{2}\phi_{1}(r) = Q(r) \right)} \sqrt{\nabla(1 + k^{2}(r) = C)} \sqrt{\nabla^{2}g_{1}(r, r') + k_{1}^{2}g_{1}(r, r') = -\delta(r - r')} \sqrt{\nabla^{2}g_{2}(r) + k_{2}^{2}\phi_{2}(r) + k_{2}^{2}\phi_{2}(r) = 0} \sqrt{\nabla^{2}g_{2}(r, r') + k_{1}^{2}g_{2}(r, r') = -\delta(r - r')} \sqrt{\nabla^{2}g_{2}(r, r') + k_{2}^{2}g_{2}(r, r') = -\delta(r - r')} \sqrt{\nabla^{2}g_{2}(r, r') + k_{2}^{2}g_{2}(r, r') = -\delta(r - r')} \sqrt{\nabla^{2}g_{2}(r, r') + k_{2}^{2}g_{2}(r, r') = -\delta(r - r')} \sqrt{\sum^{2}g_{2}(r, r') + k_{2}^{2}g_{2}(r, r') = -\delta(r - r')} \sqrt{\sum^{2}g_{2}(r, r') + k_{2}^{2}g_{2}(r, r') = -\delta(r - r')} \sqrt{\sum^{2}g_{2}(r, r') + k_{2}^{2}g_{2}(r, r') = -\delta(r - r')} \sqrt{\sum^{2}g_{2}(r, r') + k_{2}^{2}g_{2}(r, r') = -\delta(r - r')} \sqrt{\sum^{2}g_{2}(r, r') + k_{2}^{2}g_{2}(r, r') = -\delta(r - r')} \sqrt{\sum^{2}g_{2}(r, r') + k_{2}^{2}g_{2}(r, r') = -\delta(r - r')} \sqrt{\sum^{2}g_{2}(r, r') + k_{2}^{2}g_{2}(r, r') = -\delta(r - r')} \sqrt{\sum^{2}g_{2}(r, r') + k_{2}^{2}g_{2}(r, r') = -\delta(r - r')} \sqrt{\sum^{2}g_{2}(r, r') + k_{2}^{2}g_{2}(r, r') = -\delta(r - r')} \sqrt{\sum^{2}g_{2}(r, r') + k_{2}^{2}g_{2}(r, r') = -\delta(r - r')} \sqrt{\sum^{2}g_{2}(r, r') + k_{2}^{2}g_{2}(r, r') + k_{2}^{2}g_{2}(r, r') = -\delta(r - r')} \sqrt{\sum^{2}g_{2}(r, r') + k_{2}^{2}g_{2}(r, r') +$$

Some more vector calculus
Recall divergence theorem, apply to region 1:

$$\int \nabla \cdot \vec{f} \, ds = \oint \hat{f} \cdot \hat{n} \, dl + \oint \vec{f} \cdot \hat{n} \, dl$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

$$\int_{S} \nabla \cdot \vec{f} \, dS = \oint \vec{f} \cdot \hat{n} \, dl \text{ (in 2D)}$$

- 1 Motivation: Bending Waves
- 2 Setting up the Helmholtz Equation
- **③** Solving the Helmholtz Equation: Green's functions
- **4** Huygen's principle & the Extinction theorem
- **5** Formulating the integral equations

Huygen's principle & the Extinction theorem $\phi_i(r') - \phi_1(r, r') \nabla \phi_1(r) - \phi_1(r) \nabla g_1(r, r') \cdot \hat{n} \, dl$ $= \begin{cases} \phi_1(r'), \quad r' \in V_1 \rightarrow \mathcal{R} \rightarrow \mathcal{I} \\ 0 \quad r' \in V_2 \rightarrow \mathcal{E}_{rt} \mathcal{I} \\ \end{cases}$ Similarly for region 2: $\oint [g_2(r,r')\nabla\phi_2(r) - \phi_2(r)\nabla g_2(r,r')] \cdot \hat{n} \, dl$ $\mathbf{v}_{\mathbf{r}} = \begin{cases} \phi_2(r') & r' \in V_2 \\ 0 & r' \in V_1 \end{cases} \quad \text{inside} \quad \mathbf{I}_2$

- **1** Motivation: Bending Waves
- 2 Setting up the Helmholtz Equation
- **③** Solving the Helmholtz Equation: Green's functions
- **4** Huygen's principle & the Extinction theorem
- **5** Formulating the integral equations

Formulating the integral equations -1



The final set of equations

$$\oint [g_1(r,r')(\nabla \phi(r) \cdot \hat{n}) - \phi(r)\nabla g_1(r,r') \cdot \hat{n}] dl = \phi_i(r')$$

$$\oint [g_2(r,r')(\nabla \phi(r) \cdot \hat{n}) - \phi(r)\nabla g_2(r,r') \cdot \hat{n}] dl = 0$$

$$Fredholm, \ |^{st} kind, \ coupled, \ boundary integrals$$

$$discretization$$

$$b asis fns.$$

Generalizing the idea Q1: What about a magnetic medium, $\mu = \mu(r)$? Maxwell's equations: $\nabla \times \vec{E}(\vec{r}) = -j\omega\mu(r)\vec{H}(\vec{r})$ $\nabla \times \vec{H}(\vec{r}) = j\omega\epsilon(\vec{r})\vec{E}(\vec{r}) + \vec{J}(\vec{r})$ $\left(\nabla \times (\nabla \times E) = -j \omega \nabla \times \left[\mu(r)\overline{H}(r)\right)\right)$ $\frac{1}{\mu(r)} \nabla \times \vec{E} = -j\omega \vec{H}$ Q2: What about a Helmholtz like $\nabla \cdot \begin{pmatrix} 1 & \forall x \vec{E} \end{pmatrix} = -j \cdot (\forall x \vec{H})$ $(\mu x) = -j \cdot [j \cdot i \cdot \hat{E}(x) \vec{E} + \vec{J}]$ eqn in $\vec{H}(\vec{r})$? μ_o $\nabla_{\mathbf{x}} (\nabla_{\mathbf{x}} \mathbf{H}) = \nabla_{\mathbf{x}} \left[\sum_{i} \nu \mathbf{\epsilon}(\mathbf{r}) \mathbf{E} + \mathbf{J}(\mathbf{r}) \right]$ · V.H=0 $\perp \nabla \times \vec{H} = j \omega \vec{E} + \vec{J}(\vec{n})$ **F**(1) photonic crystals.

Topics that were covered in this module

- 1 Motivation: Bending Waves 🖌
- 2 Setting up the Helmholtz Equation
- **3** Solving the Helmholtz Equation: Green's functions
- **4** Huygen's principle & the Extinction theorem
- **5** Formulating the integral equations

Reference: Chapter 8 of W C Chew: Waves and fields in inhomogeneous media